FLECTROMAGNETICS — I SECOND MIDTERM EXAM

Dr. Salih FADIL ' April 29, 2009

#1) Point charges 5uC, =3 pC, 2 pC and 10 uC are located at (-12, 0, 5), (0, 3, -4), (2, -6,
3) and (3, 0, 0) respectively. Calculate the electric flux through the spherical surfaces at:

a) r =1
b) r=10
c) r=1)J.

#2) The line y =1, z=-3 carries charge 30 nC/m, while the plane x =1 carries a charge
20 nC/m?. Find E at the origin.

#3) Two point charges O, =3nC and Q,=-2nC are placed at (0, 0, 0) and (0,0, -1)
respectively. Assuming zero potential at infinity, find the potential at:

a) (0,1,0)
b) (1,1,1)
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